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. Sports some children play

Jo | Tom | Ceri | Ben | Liz | Will
football | " | ¢ | V4
ugby | v v v
swimming / / /
karate v v v
athletics v v v
Who plays both rugby and karate?
How many children play 4 sports? children

. 890 + 110




. Round 7362 to the nearest thousand.

Round 7362 to the nearest hundred.
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Work out the area of the rectangle.

The rectangle is cut in half to make two squares.

Work out the perimeter of one of these squares.
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‘ Write % as a decimal.

Write 0.7 as a fraction.
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" 274 + 241
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431 - 269
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Q Find the difference between 9.1 and 6.7

0 These calculations have the same answer.

16 -4 8+2

Write numbers so that the calculations below have the same answer.

36+ 6 - ()
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Write a calculation to check your answer.
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. Time it takes for a liquid to cool 3
80
70
60 \
Temperature 151(()) ] ~ ' ‘ '
Q)
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Time (minutes) f
What is the temperature after 15 minutes? 9C Q
:
How long did the liquid take to cool to 50°C? minutes O

. 320 oranges are divided equally into 5 boxes.

How many oranges are in each box?

oranges | Q

TOTAL




e Circle the two numbers that are less than %

035 07 02 06 075 ®

= mm | (

@) N —s500ml
1250 ml
How much water is in the jug?
ml

There is % of a litre of water in another jug.

How many millilitres is this?

Circle the correct answer.

75mi 750ml 7500m| 75000mi ()
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What time did the clock show 30 minutes earlier?

Write the time the clock shows 1 lll hours after 14:25

A clock shows this time: [ = '—l E

‘ This shape is made from centimetre cubes.

What is the volume of the shape?




£4.75

£3.75

£7.50

Ben saves money by buying these 3 books in a sale.

Altogether, he pays £12.50

How much money has he saved?
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‘ 12 pencils for £5.40

How much for 4 pencils?

m

O Money given by bank as interest on savings

Saving £100 for one year gives you £3

Saving £200 for one year gives you £6

Saving £700 for one year gives you | £ ‘

TOTAL
11



